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14,747,403 12,749,431 1,997,972 .67%
= 5,087,500 3,498,000 1,589,500
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= 9,249,503 8,843,531 405,972
A 13,457,215 11,544,243 1,912,972 .57%
= 5,087,500 3,498,000 1,589,500
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HWegs 85,000 0 85,000 .00%
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Heegs(eds2n) 85,000 0 85,000 100.00%
SBEXNE(BZINZANESESAH) 85,000 0 85,000 100.00%
HII= 2,765,205 2,682,343 82,862 .09%
= 257,500 261,000 A 3,500
= 14,400 11,900 2,500
= 2,493,305 2,409,443 83,862
Hol2 X3St 2,765,205 2,682,343 82,862 .09%
= 257,500 261,000 A 3,500
S 14,400 11,900 2,500
[ia 2,493,305 2,409,443 83,862
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HA B EAS 620,025 591, 163 28,862 4.88%
2 257,500 261,000 ~3,500
= 14,400 11,900 2,500
2 348, 125 318,263 29,862
HOIZ ®elAa 145,180 2,091,180 54,000 2.58%
1205, 188 1,205, 188 0 0.00%
205, 188 1,205, 188 0 0.00%
205, 188 1,205, 188 0 0.00%
205, 188 1,205, 188 0 0.00%




